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SPRING 2020

I. a ) 6

b) 8

c) 8

d) 8

2.

§
,

" in is
" " " ⇐

3
.

15

4. a ) 10

4 b ) 10



I a) X = It ④

128×1
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C. TOTAL 55
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d) BATCHES ARE THE EXPERIMENTAL UNITS

For RECIPES .

THUS
,

BATCH ( RECIPE ) Is

THE CORRECT ERROR LINE OF THE ANOVA

TABLE .
So DF  = 12

.
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Je) ( RANDOM Errors For Bowes )

Au Ransom EFFECTS ABOVE ARE INDEPENDENT .
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Zc )

SOURCE DF

PERSON 7  - I = 6

RECIPE 2 - I = I

PERSONA RECIPE ( 7 - 1)(2-1) = 6

Topping 4 - I - 3

RECIPE x TOPPING ( 2- 1) (4-1) = 3

ERROR ( 7- 1)(4-1)+(7-1) ( z - 1)

(4-1)=36

C. TOTAL 55



3 a REGARDLESS OF THE ORDEN THAT FACTOR

Ate B ENTER THE MODEL
,

THE FULL

MODEL Is THE CELL MEANS MODEL
.

WE know SSA * B
,

SSE
,

AND

SSCIOTAL ARE EXACTLY THE SAME .

THUS
,

WE KNOW Rlhtlt AWAY

SOURCE Sum OF SQUARES

B-
A

A * B 5.415

ERROR 1.250

C. TOTAL 43.880

Now SSB IN THIS TABLE Is
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3 .

( CONTINUED )

To GET Plz
,

B ] ¥ ,
NOTE THIS Is JUST

THE VECTOR OF FITTED VALUES For

THE MODEL WITH Just Two TREATMENT

ciroups DEFINED BY THE LEVELS of

FACTO R B . THE AVERAGE OF RESPONSE

VALUES For 13=1 Is

4×4.50 t 2×9.00
-

= 6.0
6

For 13=2 ,
THE AVERAGE Is

2×6.90 t 4×8.55
-

= 8.0

6

THE AVERAGE OF ALL RESPONSE VALUES IS

6×6.0+6×8.0
= 7.0 So Pz # = 701

# 12×1

I 2

It Focuows THAT It Pez,By¥ - Pz If IT



3 .

( CONTINUED )

It Follows THAT

It Pez
,

If - Pz YIP = 66.0-705+618.0 . top

= 12,0

So WE HAVE

Southee Sum OF SQUARES

B
12.000

A

A*B 5.415

ERROR 1.250

C. TOTAL 43.880

THE REMAINING ENTRY Must BE

43.880- (12.0001-5.4151-1.250)

= 25.215
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For LAB i
,

IFT
,

= YTI .

- Tiz .

AND

Vltrlyii .

- Ii . . )= II to
= .

4 of

THE BLUE OF T
,

- Tz Is THE GLS

ESTIMATOR ,
WHICH

USES
INVERSE VARIANCE

WEIGHTING
'
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( CONTINUED )

THE VARIANCE OF THIS ESTIMATOR Is
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4 a) To APPROXIMATE THE BLUE
,WE

REPLACE Of WITH MSE ;
For El

, 2,3 :
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